th2 2ol A HPAMAS ABCD 9] Ho]+= 80cm? o|th. tZHd BD
#1e] g A Pof tiste] APAD = 15cm? € o, APBC &] Wo|=?

® 30cm? @ 20cm? ® 15cm?

@ 25cm? ® 35cm?



2.

the 9 2L WA E ABOD 9] Wol7 502 ), o}
o yolg Fateler

A D




3. o= 33 22 AABC 94 £ABD = /DCB ©]1l, AABD = 8cm?
o o, ABDC 9] Wol=?

O 6cm? @ Tem? @ 8cm?

@ 9cm? ® 10cm?2



4. AABC &ADEF =S8H7F3: 5 F& 3o}t AABC = 27cm?
d ufj, ADEF 9] §lo]& ooz}

B e’



o2 2N AP, R Q SEZ
Z} AB, AC o] A5EHAY o, aAPQ ,
oPRSQ , oRBCS 9] W o]9] H]of] #s}o]
s 5 %4 g2 427

AAPQ, AARS, AABC 9] ®&H[7}1:2: 3 o]t}
AAPQ, AARS, AABC ¢] Ho]o] Hl&=1:4:9 o]t}
AAPQ : OPRSQ : oRBCS 9] Ho]e] H]&=1:4:9 o]t}
AAPQ : OPRSQ : oRBCS 2] Yol H|&=1:3: 5 o[t}

G2 PO 27t min: 1 4 o, Wolo Hl=
m? : n? ;2 o]t}

@ ® ®@ ® ©



b 23] B
=27 AB, D
52cm? 2w, A
o

cm

E

A



A G7} AABC 9] FAIFAHo]AL, AGMN =3 A wj, AABC 9] Hol&
-5 ?

A

® 18 @ 24 ® 36 @ 42 ® 48



8.

o= 19O HPAHY ABCD A
OABCD = 72cm? ¢ W, oFECO 9] |

o]=7?

A







10. o8 1™ 47t ABC=AB=16,AC=8°|t}). AD=CE=14
ojal, A C oA DE o ot A& 10] AB ¢ TtitE= J& F 2
S o], AAGC : AABC 9

o
8
)
)
es}
I

]
@]
N
i)
H
il
o
]
i
I

u1E 7P 7ae 4ASE ehfolet,

=



